
ATREUM LIGHTING | WWW.ATREUMLIGHTING.COM | COPYRIGHT 2019 

Canopy Frame Assembly Instructions 
Last Revision: February 9, 2019 

 

Parts List 
Part Description Quantity Included 

 

Extruded Aluminum Rail 2 

 

End Bracket 2 

 

Driver Adapter Bracket 2 

 

Spring T-Nut 14 

 

Screw, M5 Thread, 16mm Length 10 



ATREUM LIGHTING | WWW.ATREUMLIGHTING.COM | COPYRIGHT 2019 

 

Screw, M5 Thread, 8mm Length 10 

 

Screw, M4 Thread, 4mm Length 5 

 

Hex Wrench, 3mm 1 

  

Assembly Procedure 
1. Assemble the frame structure 

 

Parts Needed Description Quantity 

 

Extruded Aluminum Rail 2 

 

End Bracket 2 

 

Screw, M5 Thread, 8mm Length 4 

 



ATREUM LIGHTING | WWW.ATREUMLIGHTING.COM | COPYRIGHT 2019 

 

 

 

2. Attach QU-2 heatsinks + 288.2 boards 

 

Parts Needed Description Quantity 

 

Spring T-Nut 8 

 

Screw, M5 Thread, 16mm Length 8 

 

Drop in the Spring T-Nuts into the channels of the aluminum extrusion, and slide them into position. Use the M5 screw 

(16mm Length) to attach the QU-2 heatsinks. 



ATREUM LIGHTING | WWW.ATREUMLIGHTING.COM | COPYRIGHT 2019 

 

 

3. Attach the Driver Adapter Brackets 

 

Parts Needed Description Quantity  

 

Driver Adapter Bracket 2 

 

Spring T-Nut 4 

 

Screw, M5 Thread, 8mm Length 4 

 

Drop in the Spring T-Nuts into the channels of the aluminum extrusion, and slide them into position. Use the M5 screw 

(8mm Length) to attach the driver adapter to the frame. 



ATREUM LIGHTING | WWW.ATREUMLIGHTING.COM | COPYRIGHT 2019 

4. Install the Meanwell HLG-240H driver 

 

Parts Needed Description Quantity  

 

Screw, M4 Thread, 4mm Length 5 

 

Use the M4 screw (4mm Length) to attach the Meanwell HLG-240H driver to the Driver Adapter Bracket. 

 


